NEC MS EXAM. 2013

Class (am) @ 7t

)

GENERAL KNOWLEDGE (9W = J1) |

Which was the first metal used by man?
A W ] U & gNT Wevew W feRar man?
(a) Copper (T ) (b) Silver (=idt)

(c) Bronze (wf@r)  (d) Brass (dae)

The Indus valley civilization was discovered
in -

Ty mfe wwm #t @ fog av g 9i?

(a) 1902 (b) 1921

(c) 1922 (d) 1932

The Indus valley houses were built of

Teley =t weaen o =R o fwior feRwen g feRa e
a1?

(a) Bamboos (@) (b) Bricks (32)

(c) Wood ( #1&eT) (d) Stone (UeER)

Which film won the BAFTA award for best
film?

H O fFew ot BAFTA YOR § wdgs firen @
RELS K1

(a) Barfi (Swt)

(b) Life of Pi (TE® 31w uTg )

(c) Argo (3mt)

(d) All of the above ( e weft)

Gwadar Port is situated in -
A U wEl Sated §?

(a) Pakistan (UTfer&r )

(b) India ( ¥Td)

(c) Bangaladesh ( se9T)

(d) China ()

India ranks....... in the world in steel
production.

fova ¥ =ie e ¥ ONE @ W i

(a) 4 (b) 6

(c) 2 (d) 1

When world tuberculosis days is observed?
YR foaq e 7A@ o 27

(a) 24th March ( 24 aT=t )
(b) 23rd March (23 Trel )
(c) 26th March (26 et )
(d) 21st March (21 #r=t)

8.

10.

11.

12.

13.

LLP is abbrevations -
LLP fermen wfera w0 27
(a) Limited liability partnership
(feafies Tl ueeiy)
(b) Liability limited partnership
(Tsiteitet fafres e )
(c) Limited link partnership
(fefwes i urewwia)
(d) None of these (% &)
Which film bagged maximum awards at
Oscars 20137
H ¥ fhew I gaw e SR YRR 2013 W
Sfrar?
(a) Brave (39) (b) Argo (=3mt)
(c) Barfi (sIl) (d) None of these (¥ &)

Who is the author of the Book "Life of Pi"
‘TS ITF TS & Yk o THTAAT ol AW T 7
(a) Yuvraj Singh (gau=t f4g)

(b) Yann Martel (I Wéw)

(c) Chetan Bhagat (=9 w7d )

(d) Anurag Basu (3707 99)

At which age van cliburn was died?

forae o &t 59 o A fohetar @t 9 € i?

(@) 78 (b) 88

(c) 64 (d) 86

Who was sworn in a Chief Minister of
Nagaland?

M & G & w0 ¥ fRER vuer +ff?
(a) Neiphiu Rio (?Fuq =)

(b) Ranjit Shekhar (T 9raEw)

(c) T. R. Zeliang (2. 3R, Afewani)

(d) Nikhil Kumar ( ffae HAT )
Ashoka was famous for -

3l forman forg womey &7

(a) his vast empire ( 370 Fgg AU )
(b) preaching ahinsa ( 31f&HT 1 3UT)
(c) following the path of Budha

(T5 1 AT T)
(d) all of the above (3udea sit)
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14.

15.

16.

17.

18.

19.

Kanchi was the capital of
et fohmant T of?

(a) Pallavas ( UecTal T )

(b) Rashtrakutas (e &l )
(c) Chalukyas ( =ITelsRlt @T)

(d) all of the above (3udea sit)

Kadambari was written by -
FEE ... G T TG ofi?
(a) Kalidas (@reiiere )

(b) Kautilya (=ifeem)

(c) Harsha (&%)

(d) Bana (9mr)

Hampi is situated on the Northern bank
of-

Tt fereah 3wt @2 W s 87
(a) Tungabhadra ('gflT‘an)

(b) Godavari (Teradt)

(c) Cauveria (@madt)

(d) Krishna (=gwm)

Who said 'Ram and Rahim are the two
different names of the same God"?

forem wmgr o ‘T SR IEW S orem W U g
T & £

(a) Kabir (&) (b) Ramdas (THSH)
(c) Ramanuja ( TS )

(d) None of these (¥ &)

Buland Darwaza is situated in -
Teig AT FEl wriua 82

(a) Delhi (feeett)

(b) Fatehpur Sikri (‘Jﬁ%"{i‘ fait)
(c) Lucknow (@)

(d) Meerut (W)

When world cancer day observed?
fava dw feaw wa wamEn S §7

(a) 4 January, 2013 (4 S¥e’T, 2013)
(b) 4 February, 2013 (4 W&, 2013 )
(c) 4 March, 2013 (4 §r=l, 2013)

(d) None of these (¥ &)

20.

21.

22.

23.

24.

25.

Who has been appointed as vice-president
of India cements?

gfean Hivew w1 sweaw fore frae fan €2
(a) Mahendra Singh Dhoni (weg fHg o)
(b) Yuvraj Singh (gaust f4g)

(c) Virat Kohli (ferte whrgett)

(d) Suresh Rana (@9 )

Who is Dr. R. K. Tyagi?

EE e e T

(a) Chairman, HAL (3797 TRL.U.TA. ))
(b) Prime Minister (W&m= it )

(c) Actor (tfrar)

(d) None of these (¥ &)

The Indian Military Academy is located at -
e faferedt tehedt wet 87

(a) Dehradun ( TgEA)

(b) Mount Abu (HI=EE 37 )

(c) Hyderabad ( &t )

(d) Udhampur (38¥IT)

Where is the headquarters of western
Railway Zone located?

ufyer Iea W9 qEer el fod €7

(@) Ahmedabad ( TEHIEE )

(b) Pune (9ut) (c) Baroda (=2mT)

(d) Mumbai (=% )

Where is gold found in India?

WA § WA HET U S 82

(a) Kolar (HER) (b) Khetri (@adt)

(c) Panna (9=) (d) Katni (@et)

At which place Gautam Buddha delivered
his first lecture?

MW g = U UEer vt fRw g W e an?
(@) Sarnath (HRAY)

(b) Lumbini ( & )

(c) Bodh Gaya (ser &)

(d) Vaishali (&9Tett)
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GENERAL SCIENCE (¥ fa@me) )

1.

How many numbers of bones are in human
body?

T & YRR W femat gfggat gt 87
(a) 639 (b) 206
(c) 602 (d) 396

Blood Pressure is controlled by -
G T T A el T 87

(a) Adrenal gland (TS Teft)
(b) Gills (Twg )

(c) Both a & b (a 3R b )
(d) None of these (@Ig &)
Fishes respire through -
wofear &Y || o §-

(a) Gills (WweT)

(b) Adrenal Gland (Te=a Wet)
(c) Both a & b (a 3R b )
(d) None of these (@Ig &)

Vitamin C is found in -

o= @ form & uman s €7
(a) Orange (AR )  (b) Milk (g&)
(c) Egg (=mwer) (d) Botha &b (a3 b3Ar)

Humidity is the result of :

3TEAT T o8 B-

(a) Evaporation ( aTSdieRtur )

(b) Transpiration ( ST )

(c) Presence of heat (1% & Suferd)

(d) Presence of moisture content in the air

(s § T w TwhEt)

Device is used to measure very high
temperature is

I ARA T AU & forg fRw @ @ wen TR
AT B2

(a) Pyrometer ( UrRIHET )

(b) Thermometer ( IHIHET)

(c) Bolometer ( sieHIeT)

(d) Calorimeter ( heHET)

7.

10.

11.

12.

13.

Pitch of sound depends on -
et i’ @ o Frelt e -
(a) Frequency (@)

(b) Wavelength (¥ee)

(c) Amplitude (THfeT=E )
(d) Speed (Tfa)

A red flower kept in green light will appear
Tl el Tl B8 U9 o T A SEeRr T S Bhm?
(@) Red (<) (b) Green (&)

(c) White (3<TeT) (d) Black (=hTetr)

The most abudant metal is earth crust it -
Jedt % e Ueed W agard § U WA Sl org 8-
(a) Iron (TET)

(b) Magnesium ( #faam)

(c) Calcium ( hedra®)

(d) Aluminium ( 37ejfufm)

Which one is the purest element

HH W G a9 § -

(a) Glass (9item) (b) Cement (e )

(c) Sodium (Hfgaw) (d) None of these (HE 7&)
Which gas filled in ballons?

A W T e ¥ il Wl 82

(a) Helium ( f&feram)

(b) Lithium ( fafeem)

(c) Both a & b (a 3R b )

(d) None of these (@Ig &)

Which metal pollutes the air of a big city?

I W T 92 IR W A A UG w 87
(a) Lead (¥aT) (b) Tin (1)
(c) Zin (Sfi®) (d) All (Hsft)

Which metals remain in liquid for under
normal conditions?

=T TTeld ® i W T a0 e ¥ e 87
(a) Mercury (4RT)  (b) Diamond (&RT)
(c) Cement (HiHe) (d) All (|sft)
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14.

15.

16.

17.

18.

19.

Which is not an ape?
T ¥ HA ST Tl 82
(a) Gibbon ( i@l )
(c) Langur (¥X)
(d) Orangutan ( 3f=ET)

How do most insects respire?

arfienat frg form TE vyae &d 872

(a) Through skin (@ & §RT)

(b) Through gills (TAwE & gRT)

(c) By lungs (R®%ST & gRT)

(d) By trachea system ( 3@ WUTlelt §RT)

(b) Gorilla ()

Pituitary gland is present

drgw Ueft wEr g §?

(a) at the base of brain (wftw & =g W)
(b) above the brain (Aftaws & ST 9ET W )
(c) inside the brain (wfews & Wfiav)

(d) near the brain (@fks® ® TE)

Amnesia is related to

wifa wira fered deifer £2

(a) Sleeping Sickness (M & &R )

(b) Loss of sight (gfte &)

(c) Loss of hearing (T & wifem &1 &)
(d) Loss of memory ( ITeT& i Jifed @l &)

Which of the following is an carnivorous
plant?

T W HE W U qrEEn 87
(a) Hydrilla (gTegan)

(b) Nepenthes (30 )

(c) Marsilea (wRfaferan)

(d) None of these (% T

Mushrooms are actually
e e ¥ -

(a) algae (Jraret)
(c) lichens (SraTeh )

(b) Fungi (w%g)
(d) None of these (1§ T&)

20. How many chamber is found in the heart

21.

22.

23.

24.

25.

of frog?

s & fom § foe v U W €7

(@) 2 (b) 3

(c) 4 (d) S

Larva of frog is called -

WGF & ANGT N HEd 87

() Pupa (qur) (b) Maggote (#iie)

(c) Catter Piller (shevdier )
(d) Tadpole (2=Ure)

Fishes die out of water because -
Tl Ut ¥ T R A WS 87
(a) They get more oxygen
(TOTET SRS & hIOT)
(b) Temperature of body increased
(VRIT wi AUEH &G4 & HIT)
(c) They can not respire
(|tg & N & H)
(d) They can not walk in water

(U § T oo % T

Which one of following bird had teeth?
& o welt € faw 3 e 87

(a) Ostrich (9Tt )

(b) Archeopteryx ( 3T=i=iea )

(c) Penguin (UEiT)

(d) Parrot ()

Bat can fly during night because they
produced -

TWES T i fohd oo ¥ ISt 87

(a) ultrasonic wave ( 3eETETeR M)
(b) Sound wave ( & T)

(c) Ultra violet wave ( TETHEAS TT)
(d) Infra red wave (FWRE W)

Poisonous lizard is -
wEdrett fouamiet &-

(a) Chameleon (=mferaiT)
(b) Astrodon ( 3T=TEH)

(c) Heloderma ( eiretmm)
(d) Varanus ( ¥0®)
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MATHEMATICS ( TTfuTa ) ]

1.

Find the largest number which can exactly
divisible by 513, 783 and 1107.

T ¥ W@ TS W@ & o g, faw 513, 783
3T 1107 it e fawrfm = wm?

(@) 27 (b) 72

(c) 22 (d) 46

The H.C.F. of two number is 7 and their

L.C.M. is 210. If one of the number is 35,
find the other.

T HESl W WA, 7 § U ST @4, 210 €1 9fg

ST | U GE 35 ¢ df gEd WEm q|
(@) 27 (b) 42
(c) 24 (d) 46

On dividing 16075 by a number, the
quotient is 167 and the remainder is 43.
Find the divisor

16075 ! Ueh & ¥ faurfad & W 9w 167
€ T 9w 43 & o wiweR A 87

(a) 69 (b) 46

(c) 96 (d) None of these (¥ &)
Solve it / WA -

25+0.005="

(a) 50 (b) 500

(c) 5000 (d) 50000

Ifa=46,b=6andc=24, then (a®>-b®-c3
- 3abc) =7
g a=46,b=634Tc=24T @ (a-b°-c?

- 3abc) =7
(a) 63424 (b) 42363
(c) 24366 (d) 66423

What decimal fraction is 40 ml of a litre?
Teh olel T 40 T, vmea fa=r s/ grm?

(@) 0.4 (b) 0.04

(c) 0.05 (d) None of these (¥ &)

Ifa+b+c=13,a%+b?+c?=069 then (ab +
bc +ca)="7?
glea+b+c=13, 3R a2+b2+c2=69 8 a
(ab + bc + ca)=?
(@) 50

(c) 40

(b) 60
(d) 70

8.

9.

10.

11.

12.

13.

14.

3 .2
Find the value of x, if 70f§0f X is 198

2 3
X ST A TRl afg x &1 — 1=, 198 &

57
(a) 198 (b) 1155
(c) 351 (d) 515
If ‘H‘L_E find th 1 fxi
Al Taa ~ 7o find the value of x is-
o (14— =10 & G W T
144 12 % 3"“
(@) 0 (b) 12
() 13 d) 25
Slove it / WA &
\/§—1+\/§+1_7
Vo241 21
(@) 6 (b) 4
(c) O (d) None of these (¥ &)
Find the average of first five multiples of 3.
3 @ UUW Uie YUl ST SIEA T EIm?
(@) 35 (b) 9
(c) 50 d) 6

16% of a number is 216. What is 27% of
that number?

Teh GET A 16% & 216 Al SHI WEAT AT 27% T

Trm?
(a) 274 (b) 46
(c) 64 (d) None of these (¥ &)

Three numbers are in the ratio4 : 5: 6 and
their average is 25. The largest number is-

T TSN RN U 4 : 5 : 6 € S I 3 28

T @ TN 9 wen e o 87
(a) 42 (b) 36
(c) 30 (d) 32

65% of a number is 21 less than 4/5th of
that number. Find the number

forel §E& o 65%, IHT W& & 4/5 AT W 21 FH
& @ € W FE R

(@) 140 (b) 150 (c) 160 (d) 170
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15.

16.

17.

18.

19.

By selling a watch for Rs. 1440, a man
losses 10%. At what price should be sell it
to gain 5%

1440 %, W W€l 9oM W Uk Tl 10% i I
Tt & A o sl aEt @ TR €, W SO @ S 5%
T T E

(a) Rs. 1680 ( 1680 %,)
(c) Rs. 8061 (8061 %,)

(b) Rs.81(81%)
(d) None of these (1§ T&)

3 men or 5 women can do a work in 12
days. How long will 6 men and 5 women
take to finish the work?

3 TEW 311 5 3d 12 oot o o e € @ 6 e
3R 5 3a fere fot & Bt W A

(a) 4 days (4 fg8)  (b) 10 days (10 T&)
(c) 15 days (15 f&7) (d) 20 days (20 &)
Ram can do a work in 4 days, Shyam can
do it in 5 days and Neha can do it in 10

days. Ram, Shyam and Neha together can
do the work in

W 4 fe7 ¥ wW ot gurw war €, v 5 fe ¥ e
AT 10 feq ® @ 1w, A o WeT Wy H & &
A fehaeT Tug N wW @ T w2

3 3 20 20
(a) 15 days (1ofa) (b) —7days (7 fa)

]
(c) 4 days (4 fge@) (d) 3 days (3 fa7)

A person starting from his house covers a
distance at 15km/hr and returns to the
starting place at 10km/hr. His average
speed during whole journey is ?

Teh afer 30 W A 15 TR /Her ®i TR ¥ U
T aF wwar € o fR 10 feRH. ser @ st W
dedr & @ 39 e W frEd e R Eni?

(a) 11km/hr (11 T, /geT)

(b) 12km/hr (12 & /HeT)

(c) 13km/hr (13 &, /Her)

(d) None of these (¥ &)

How much simple interest will Rs. 2000
earn in 18 months at 6% per annum?

6% aTfier g¥ & 2000 &, T 18 WE & feu wremor
TS T ERm?

(@) Rs. 120 (120 &.)
(c) Rs. 216 (216 %.)

(b) Rs. 180(180 &.)
(d) Rs.240(240 %.)

20.

21.

22.

23.

24.

25.

Find compounded interest on Rs. 1000 at
10% per annum for 2 years and 3 months
compounded annually

1000 &, TT 10% ek & & 2 T 3 WEH I TG
S T E?

(a) Rs. 3045 (120 ®.) (b) Rs.2402.5(2402.5%.)
(c) Rs. 3750 (3750 %.)(d) None of these (¥ &)

What will the compound interest on Rs.
25000 after 3 years at 12% per annum?

12% dTf¥eh ST i 9T @ 3 a6 & feTw 25000 &, T
TRl S T ER?

() Rs. 9000.30 (3750 %.)

(b) Rs. 9720 (9720 %.)

(c) Rs. 13210 (13210 &.)

(d) Rs. 10123.2 (10123.2 &.)

If the diagonal of a rectangle is 17 cm long

and its perimeter is 46 cm, find the area of
the rectangle..

Teh 3 T faeRut 17 AW, wven wd gHent wifHdr
46 A, & A W AT W ATRA [ R

(a) 120 m2 (120 W?) (b) 120 cm? (120 AH?)
(c) 40 cm? (40 AH2) (d) 60 cm? (60 W)

Find the area of a triangle whose sides are
13 cm, 14 cm and 15 cm in length.

T IS & SAFA F1 B W IRt qS 13 WH,
, 14 A, w15 AR, T 7

(a) 84 cm? (84 AM2) (b) 30 cm? (30 W)
(c) 84 m2 (54 ®?) (d) 30 m?2 (30 #.?)
The present ages of A, B and C are in the
proportion 4 : 7 : 9. Eight years ago the

sum of their ages was 56. Find their present
sum of age.

A, B3R C &l aduM ST T U 4 : 7 : 9 8 T
8 T8 UEH STeh U T AT 56 T F Seh TAHM 37T
T A M 7

(a) 16 Yrs. (16 a8) (b) 49 Yrs. (49 ad)
(c) 18 Yrs. (18 @) (d) None of these (% 7&)
Three fifth of a number is 15 more than
50% of that number, what is the number?
Teh 3k ol 3/5 W 3{ch & 50% ¥ 15 QT ¢ o 39

W@ & A R
(a) 120 (b) 140
(c) 160 (d) 150
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ENGLISH ( 30 ) ]

Write an essay on any one one of the
following. (in 150 words) (4 Marks)
(@) Unity is strength

(b) Pollution

Write a letter to your father asking money
for purchasing a computer needed for
education. (in 100 words) (4 Marks)

Write down the opposite gender of the

following. (2 Marks)
(a) Hart (b) Monk

(c) Buck (d) Friar

Correct the following words. (2 Marks)
(@) Lrod (b) Gnder

(c) Egipt (d) Profesor

Give 2 synonyms of the followings given

words. (2 Marks)
(a) Flourish (b) Excuse
(c) Devil (d) General

Fill in the blanks with appropriate article.
(2 Marks)

(a) He gave us ...... good dinner

(b) His elder sister is ......S.P.

(c) I go to Jaipur once ..... year.

(d) Mr. U. Jha is ...... intelligent teacher.

Write one word for given group of words.
(2 Marks)

(a) wish to do good to others.

(b) Strong desire for food, wealth.

(c) future generation.

(d) fear of animals.

Make Active to Passive voice.
(a) He is writing a letter.

(b) Bhavna is singing a song.
(c) I am drawing the picture.
(d) He will teach me.

(2 Marks)

Write down the plural of the following.

(2 Marks)
(a) Canto (b) Quarto
(c) Calico (d) Solo
Translate into English (3 Marks)

(a) -TETS STOTER @M

(b) FAAT Teh HHAFER gkl &1

(c) SHa fuar e Taaersht safem &)
(d) wF SIgA W e 2

(e) ® 31 &k & few s €

(f) e SgA ST e 2
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HINDI ( f&=t) ]

1.

Frefafaa o & Tt T W 100 o= W Frafer fomd)
(4 3f)

(a) w=taRoT

(b) TFET

AU TET B U IS FHIGT ST 2 150 Vdl
o s ux fed (4 3i®)

Treferfaa ordl & Qr-ar yaigaTet e ford
(2 3f®)

%, @ T, H/E
T, 3R

Trfafea gl = g v gR ofd W

N (2 3i®)
F, e 3o W, e TS

T, TS W ARG R s )
Frefeafaa st & faom v fored (2 3f®)
&, o g uyg

T, ufea T gqq

R vt w0t gfd wifsw)

%, W 3T otfew @ ... W B
@, W 0 T A S TE @ SR L S
T, WEE gg A @Rl ot sifgan @ LT

W, oG Teh SuEn ... 2

(2 3®)

e forg orgE v W g W (2 30)
%, g oRTdl SR T &

W, T IE M I B

T UET gt 31|

9. qH FE q@ ol @

Frfafaa vl & wfa fosdg &

(2 )
&, AT
T 9RE

W, FYIER

(2 3®)

. Tafafas ot o 9 fodt e o 9a 70 vt © e

Col (3 3fF)
%, Yewa ur TfEd, fam o v g
U T SER, Wi 7S T

@, fiew f=r wfEd, i sfe zam)
fom wg-ur fomm, frder sRt gaman



